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?})é Written type 1: [Fraction Related|]

01. One-third of Rahul’s savings in National Savings Certificate is equal to one-half
of his savings in Public Provident Fund. If he has Tk. 1,50,000 as total savings,
how much has he saved in Public Provident Fund ?

National Savings Certificate-9 2R 793 @7 GF-POIRH Provident
fund-«@ O T NEF @I AN | T R @G T d¢oooo TR =W, O
@ provident fund ¥© BT 77ex 022

| Solution |

Let savings in N.S.C and P.P.F. be Tk. x and Tk. (150000 - x) respectively.
Then, lx = l(150000 - X)
32

— XX 275000 = 2 = 75000
372 6
o= 190006 _ o000

.. Savings in Public Provident Fund = Tk. (150000 - 90000) = Tk. 60000
Answer : Tk. 60000

One third of Rahul’s savings in national savings = @t=< National

savings @ JHER G TORRA |

iR, e 79 51 NSC 9 7267 7 OF % |

Wﬂ%NSC-@xWWﬂWWWWﬁWW% ofxﬁTg | One half

of his saving in Public Provident Fund = Public Provident Fund (3t PPF)-«
TREIT SEF | 924, PPF-9 F© B0 1267 ©f 58 W@l Sife 97 | &0 (5 A=ecqd At
credt wer 150,000 Bt | o1, NSC t 3w x 5ol a1 =8 <6151 =69 PPF @ | =it @2

FRI5T A 705z (150000 — x) BT | ©FF ST W0 %of(lSOOOO—x)TB‘I?Fr|
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02.

03.

 Chapter One : Equation making and Fraction °

Karim and Rahim have equal amount of money. Radha has half of Rahim’s
money and Amena has half of Radha’s money. If you add one taka with all the
money they have, it will be Tk. 100 How much Rahim has?

TR 3R AT T A B SR | A A L AEF G A
SR AR W4T | OR#R IM 1 Bl GG BIFIR AT @17 F41 = SR of 100
Bl =7 | IR0 S GBIl WICR?

| Solution

According to the question,
Say, Karim = Rahim =y

.. Radha = % Rahim = % y
rly=1
2 2 Y 4 Y

.. Karim + Rahim + Radha + Amena + 1 = 100

and Amena = % Radha =

or, y+y-+ %y+ %y+1=100

or, Wﬂw or, [ly =99 x4 or,y=9 x4 =36

.. Rahim has Tk 36 Answer: Tk 36

Ted Reee | @ap Aty A0 70 B O Qe b1l AR SR ARCGE BT (AT 6P
F401 equation TofE e TG 2T @R GOII RGE B (y) ICATH
A T (G <1 =0CR |

. : : 1 :
Of all the students in a certain dormitory, 5 are first-year students and the rest

4 !
are second-year students. If 3 of the first-year students have not declared a

major and if the fraction of second-year students who have declared a major is 3
times the fraction of first-year students who have declared a major, what
fraction of all the students in the dormitory are second-year students who have
not declared a major? [2TX SFCS HI&AT TCAR @ 6 QAW N0 o 089 7@wa
O (& (VA G QG TR TS i)
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°
| Solution |
Let Total students be 100
.. according to the question, the student of first year = %x 100 =50
the number of students who not declared a major = %of 50 =40
.. declared a major = 10
in the same way, second year = 50. Declared a Major = 30.
Not declared a major =20
.. second-year students who have not declared a major = 120—% = é (Answer)
7 AR AT QI G ITRAT 403 ORI =S = | @EG (W e
Teq 2neql (1 20 & S (6 2@ @Rp 100 & 411 AR ©IR Ted v
20 1
= q =
100 5
04. Beth received > of the votes cast in a certain election. What fraction of the

10
other votes cast would she have needed in order to have received L of the votes
2

cast? [80% &S BleaT ZE (@, AR (S5T T S (T (T G5 (S5 L S 2]
2
| Solution .
Let the total votes be 10.

.. Beth received 3 votes and other votes 10 —3 =7.

. 1
In order to have received 5 of the votes she needed 5 votes

o2
.. 2 more votes needed which is 7 of the other votes.

@2 wFB x @8 IS A | F§ G Fraction-«3 Denominator
UG | @R 2 ©1R 10 40 SRS 17 NG e =6 e |

T



 Chapter One : Equation making and Fraction

05. At a monthly meeting, % of the attendees were males and % of the male

. . 9 . .
attendees arrived on time. If 10 of the female attendees arrived on time, what

fraction of the attendees at the monthly meeting did not arrive on time?

m {5 Wi fifta (6 smesa % SR T S R PR % R Sfge

Zrafee PN | I wiRE wens % e JAPTICT NI SR (W6 AW

F© SR TAPTICE g =7 722

| Solution .
Let Total nunber be x
.. Number of males = x x % = 2_x

5 5
and female = x - 2_x: 3_x
5 5

.. Males not arrived on time = 2x x (1 - 7 )= l

5 8 20
And females not arrived on time = 3x x (1 - i E

10 50

. X 3x 11x
.. Total later arrivals = — + — = ——
20 50 100

. 11
.. Ratio=——

06. If one-third of the fund of an endowment was invested in stocks, and of the other
two-thirds 25% each was invested in bonds and in mutual fund, and the residual
amount of Taka 60,000 was invested in treasury bills, what was the total size of
the endowment? [Bank Asia 2008]

T @ endowment fund @7 @F TR stocks 9 €k AIF FZ TSR

25% 3@ bond € mutual fund @ ¢ IWAF 60000 BT Genfe e
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| Solution .
Let total amount be x Tk.

- We get, x — [% +(25 +25)% ofgx] = 60,000
:>x—(§ +50%of§x)=6oooo :>x—(§ + §)=60,000

= — =60,000 ..x=18,000 Answer: Tk 18000

X
3
S e | stocks @ G B % et R 9 o 71 e % ! B 25%
@ bonds ©3k Mutual fund @ =i bonds ©3x mutual fund @ @5 (25
£ 25)% of§ | el I Bl e (4 e @i SoeE e Bl

2ANSAT TS |

: : : : 1
. Of the final grades received by the students in a certain math course, gth are

A’s, ith are B’s, % are C’s and the remaining 10 grades are D’s. What is the

number of students in the course? | Pubali Bank 2009]

AT IR | G S e @R Ta-z@ma é ST TS PO 62T 2T A, % SRCA

B, % wd C @R A 10 & D | @ @I0[ @6 »a-Zrar Jl 97
| Solution |

.. According to question, x — (§+ Xy i) =10

Let, Total students = x

4 2
oy AxSx+l0x o0 20x-Dx 0 X
20 20 20
%= 10 .. x=200 .. Total students =200 Answer: 200

<6 2l SRR O (Rl WICE Oy SR WK @ D grade @@ ©ifs
M W0 &F© FRYT A | ©IR FAeT part TG =@ FRAT (AT Koz
FACTR AN S IR AT A2 |

W
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: : 2 3
08. On a certain x—y committee, 3 of the members are men, and 3 of the men are

3 : :
country y. If 3 of the committee members are from country x, what fraction of

the members are women from country y? [Basic Bank 2009]

g5 e x-y sffbre % T TR S AR % SRA Sy TACeE | M

3
o B S AT x TACR =T, O Y TACHR F© S 717 F1<1?

Solution

Given that, Total people from country x = %

. 2 2 2 2 1

_1.3-2
TS

According to the question total man from country y = ( % of %) = %

.. Total Women from country y = % =

Ted [eeel | Ar=e @ty y country’@ women G IRAT GFCS (BLACT ©IF LA ) G B
(TP FRT (I FCE men T TRAT AW TR women &= SR* #1eal IS |

: . 1 .
09. Tanim bought some oranges. He gave % of them to his sister, n of the reminder

to his neighbour, % of those left to his children and had 6 left in the end. How

many oranges did Tanim buy? [Bangladesh Bank-2010]

Tanim g T 6T | (T G (0 % X O (T ST U S

1
wamaf—caww .,Www%mﬁmmw%a«m
#fe 6 6 AT | TIee Sredr 2eaeg Tanim FOLE I fFaizeT?
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| Solution |

Let the number of oranges Tanim bought be x .

-l>|>—~
NI»—‘
=
Il
oo | =

. His sister got —%x And his neighbour got =

1 x  8x-4x-x 3x
.. Remaining = x—Ex————=—;

8 8 8
Thus children got = 3_x X é = 9_x :
8 5 40 °
. Leftinthe end =x —( —x + X422 ) 40x—20x—5x—9x _ 6x
2 8 40 40
S LT (Ans.)
40 6

o7 [Joeel | @, AfStaN <9 BIHE (N6 Foom™ (RS 20 O ([F A (eI SNl
SRME F© O 787 O (79 I (FeCo ARR | AF ST T© O (AT I ©F
W 58 R 6 | TTOUT QT (ATFE (W6 AT e A |

10. Rafiq, Suja and Suman share an apartment and are splitting a grocery bill. Rafigs
groceries cost 50% more than Sujas groceries and Rafiqs groceries cost 5/6 as
much as Suman’s groceries. If Suja paid Tk. 20 for his groceries, then what was
the total cost of the bill? [ICB-2011]

Rafiq, Suja @3k Suman 96 apartment T9RIF T ATCF | O SCA ALY
grocery bill &t ©" 37 7@ | Rafiq @9 groceries o0 AR suja @9
groceries YR ARG @tF 50% @R @R Rafiq @9 groceries 04

sfasrel Suman @9 groceries YU % R | AW Suja groceries @9 Y=

3w 20 BT 57 ¢ OIRG (NB grocery bill @g AR To?

| Solution |

Given that, Suja’s cost = 20 Tk.
.. Rafig’s cost = (20 + 50% of 20) Tk. = (20 + 10) = 30 Tk.

. : . 5
According to the question, Rafiq’s cost = 3 of Suman’s cost

_



 Chapter One : Equation making and Fraction

=30= % of Rafiq’s cost

.. Rafiq’s cost = g =36 Tk
.. Total cost = (20 + 30 + 36) =Tk. 86 Answer: Tk. 86

e U9 | @R 2t Suja’™d 216 (A3 AR ©IR Suja (A F T 6 TR “1ea T |

11. The value of a fraction is % If the numerator is decreased by 2 and the

denominator increased by 1, the resulting fraction is equivalent to 1 Find the

numerator and the denominator of the original fraction.
[Bangladesh Krishi Bank-2011]

AT A | 9o SRR T = % | I = 2 JT 2GR =9 | I A = w0

eff@@m‘ﬁ% T I T | T SR #1978 7T F©?

Solution

Let the original fraction be i_x
X

2x-2

:ljgx—8:5x+lj3x=9 SoX 3

4

According to question,

.. Original fraction = 2x3 i(Ans.)
5x3 15

Teq [Reeael | = ogrHa W % T o @ %-?im@m@mm|mm

@mﬂﬁg,ﬁ?wiwﬂi@TﬁTmﬁ,z—x €S 2F |
5 10 35 5x

e,
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12. Mr. Zahir received Eid Bonus of Tk. 7, 875. He distributed the money amongst

his three daughters named Lipi, Rimi and Shahnaz. Lipi got % of what Shahnaz

got. Shahnaz got double of what Rimi got. Determine the actual amount of
money that each of the sisters got. (Bisic, Officer: 2014; IFIC MTO-2013)

20 AR | Zahir 3taq 7875 Bl 9 (@AFT (1T | (3T G Brhl O fo T Lipi, Rimi
@ Shahnaz @3 =gy o 3 W= | Lipi #W Shahnaz @’ % SR |

Shahnaz “F Rimi-«7 faee | S foqt @ arens o I (oF?

| Solution |

Let Rimi got Tk. x; .. Shahnaz got = 2x Tk
and Lipi got= (% of 2x ) = 6% Tk.

So, we get, x + 2x + 65—" — 7875 = w = 7875

= 21x=5x7875 = x = 1875,
o 2x=1875 x2=3750 and 65_x = 1875 x g =2250

So, Rimi got = 1875 Tk, Shahnaz got = 3750 Tk and Lipi got = Tk 2250.
Answer: Tk 2250.

g “afs

Let Shanaz got Tk. 10x

.. Lipi got = Tk. 6x (% of 10x) and Rimi got = Tk. 5x

.. According to the question 10x + 3x + 5x = 7875
> x=375
.. Shanaz = 3750 Tk. Lip1 = 2250 Tk. and Rimi = 1875 Tk.

T



